- ®

LT

-
Hanshang Hydraulic

ADWHG16BYE i i [E [F)

4DWHG16 SERIES SOLENOID
PILOT OPERATED
DIRECTIONAL VALVES

ADWHG16 BU B i e [o) 1) 2 F R W ¥ m R 0 S S HI B X 4DWHG16 series are solenoid pilot operated spool type valves . This

=130 A HE Internally drained
Hi7 (DC)-16

% (AC)-10

HaE i, BTSRRI Eh T | o series are used to control the start ,stop and direction of flow. g
(0]

2

g . (@)

O #HARS# Technical data a
S

i#1% Size 16 )

—

&= L{EEH P A B(MPa) Max operating pressure P.A.B(MPa) 35 8
$2405m5MEE Externally drained o5 2

T O (MPa)T Port (MPa) 3 (AC)-10 Q<_)

D

(72}

Y A (MPa)Y Port (MPa) #2418 5ME Externally drained

H% (DC)-16
B/MEEIE S (MPa) Min. Pilot pressure(MPa) 0.45-1.3
BRKifE (L/min)Max. flow rate(L/min) 300
EE (F= )Weight(KGS) 9.5

B (##}) REAbE

I8 casting phosphating surface
Valve body ( Material ) Surface treatment B ZERHLL de E

NAS1638 9 & #n 1SO4406 20/18/15 £

sH% &5 E /Oilcleanliness
A /Oilcleanli NAS1638 class 9 and ISO4406 class 20/18/15

www.nshpv.com




Industrial hydraulic valve

Tl ik E i’

C #HMEMZ. 4DWHGH6... B ( ZE{ERHLP46 , Om=40 C + 5 CHIE )

Characteristic curves : Type4DWHG16... ( measured with HLP46 , Voil=40 C+ 5 C)

A p-q.MEBE#Z Characteristic curves

6

8 5
12 / /// As
o / yy4v/4
o A E /| 4 A// ~
5 ~£ . // ;;/ éﬁy;jjﬁ;z
a 8e / //%,/A
; 2 Py - —=
N M3 2 P =
(=]
B ° 0 50 100 150 200 250 300
& Flowin ( L/min 3>
HEEH S NI E Spool position HEER S AL E Spool position
Spoolsymbol [ 'p A T pB [ AT [ BT | P-T Spoolsymbol | ' p A T PB [ AT [ BT | PT
ED,Y 1 1 1 3 - MW 2 2 4 3 -
F 2 2 3 3 - 2 2 4 _ _
GT 5 1 3 7 6 1 1 4 7 -
H,C,Q,V,Z 2 2 3 3 - 4 4 4 - 8
J.K,L 1 1 3 3 -
C HLEEF 2 Spool symbols
WHG A B WG A B
,,, oo ] o
P PTT
A B AL B
Ny PE— oo o e
P P
DWHG AL B A B
ol [ b e eohs]
b B
ber e
A B A B
lnaF#m ot/ ﬁﬂ!ﬂﬂhﬁ-wn
P
A B A B
'ﬂn“ ceefees /OF ceffeen)
PTT
DCHHEH DA« hno
T I 1T O HeeeA
D X o b
NN
P
o M) KR .
Ll OEEEX OEX
A B
o I! EIIEIHE X O
Y XHHHT ] @E{[ﬂ i
e NEEH X0
X B0 XNEEO XG0

Ningbo Hanshang Hydraulic Co.,Ltd.

(XL »
S

AL o

G



.

k1

Hanshang Hydraulic

‘amy

O E=HMAE S MR RHES SMERIIEEA Pilot fluid supply

4DWHG16 il

. RALSSMIERRR: IRT AR, 195 3 B/KE
I"JEEHﬂW RRUOMEE, 95H 3 E’J/J\:'—EE&I\ ﬁkl*ﬂ
2. MHESSMERE R BERMEZEEAFT, K
£ M6 2257 2 BiSME, #FT M6 $25T 2 R HE.

" e .
Internal pilot ' C"gVer
é (¢ el BIIAA oo

AMiE External pilot

DWHG16 BYftHEZE#
DWHG16 explanation partial drawing

4DWHG16

(1) Internal pilot and external pilot:

Removing the sideward cover, installing the pin to
allow "P" port with open position is internal pilot, to
convert the pin into "P" port with plugged position is
external drain.

(2) Internal drain and external drain:

Removing the bolt 1 and installing M6 screw 2 is
external drain, unscrew the M6 screw 2 is internal
drain.

www.nshpv.com




O
)
—
)
o
Q
=
®
N
(=
N
N

Industrial hydraulic valve | T il & & i@

C 4DWHG16 4pEIR~F 4DWHG16 Overall Dimensions

217
1
b a
=1 =
A =
o )
g — — —
A B I
| O O
211.8
101, 6
18.2] 341 _
% N\ ——— —/\
=1 AN T W=
= o i T A T 1 | —
; \:/L i N ; )
iy FARVERY oo
\ \@@A\i //%@ ~’B ¥@D//
| 4-011%Pylome/ 2-06. 6% Pylome _

7 B E 42T

4 A~ M10X60GB/T 70.1-12.9 2§ #7 % #1%E Ma=75Nm
2 A MBX60GB/T 70.1-12.9 2% #7%#% Ma=15.5Nm
PTABOOZE: ©26X2.4

X.YLOO0EBE: o 15X1.9

Ningbo Hanshang Hydraulic Co.,Ltd.

Valve's set screw

4 of M10x60 GB/T70.1-12.9 Tightening torque Ma=75Nm.
2 of M6x60 GB/T70.1-12.9 Tightening torque Ma=15.5Nm.
O-ring for P.T.A.B Port: ¢ 26 x 2.4

O-ring for X.Y.L Port: ¢ 15 x 1.9




- ®
kil
Hanshang Hydraulic
C KL R Installation dimensions

4DWHG16
138
101.6
4-M10/19
“
>
© S| >
T} ™~ i
= .
aDwHG16| E |60 * [DC2al N % /s [zsL] » [ = | = [ ]
B Anist AR
For further details
% = THiRA
#1z 16 V= F5R
Size 16 Nocode =NBR seals
V=FPM seals
WiE BV EERS _ R = NHHUER
See the function symbol P4.5= wTER; FEES 0.45MPa
of spool valve No code=Without preload valve
P4.5=With preload valve
#7%) 60=16-32 @& cracking pressure is 0.45MPa
Series 60=Size 16-32
. " THRiE = AR =S
T =WREM (FERRE R P O )
O= B E(HE _ s 42 _ s 4z
OF- SME S, (s B0.8= it L& 0.8 B10= TimfL#&E 1.0
= TR =BOTS, WAL Bi12= #7212 B15= HRAE 15
No code=With spring return
O=Without spring return No coad if without plug-in throttleer
OF=Without spring return,with detent B0.8=Throttle orifice size 0.8
B10=Throttle orifice size 1.0
B JE Voltage B12=Throttle orifice size 1.2
DC12;DC24 ;AC110;AC220 B15=Throttle orifice size 1.5
N= B e T Z5L= KT R AR
N=With concealed manual override ER= fEE&KRk
Z5L= Large quadrate plug with light
T = SMEESMIERIE= RfoMHER) ER=Deutsch Connector
ET= ML AHER! T= SME R HERY

. : T = &BATR
No code=Externally pilot, externally drained S- AEWE HOBRS- SANE HONR
E=Internally pilot,externally drained No code=Without pilot adjustment
ET=Internally pilot internally drained S=With meter-in pilot adjustment

T=Externally pilot, internally drained S2=With meter-out pilot adjustment

www.nshpv.com




